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1. The	value	of	10	✕	10	is
(i) 101 (ii) 102 (iii) 98 (iv) 100 (v) 99

2. The	value	of	100	÷	5	is
(i) 18 (ii) 22 (iii) 20 (iv) 21 (v) 19

3. The	value	of	1	✕	15	is
(i) 15 (ii) 17 (iii) 16 (iv) 12 (v) 14

4. The	value	of	324	÷	9	is
(i) 36 (ii) 38 (iii) 37 (iv) 34 (v) 35

5. The	value	of	10	✕	10	is
(i) 101 (ii) 99 (iii) 100 (iv) 98 (v) 102

6. The	value	of	441	÷	7	is
(i) 64 (ii) 66 (iii) 62 (iv) 63 (v) 60

7. The	value	of	2	✕	20	is
(i) 40 (ii) 43 (iii) 37 (iv) 41 (v) 39

8. The	value	of	324	÷	9	is
(i) 33 (ii) 39 (iii) 35 (iv) 36 (v) 37

9. The	value	of	11	✕	18	✕	11	is
(i) 2177 (ii) 2180 (iii) 2179 (iv) 2178 (v) 2176

10. The	value	of	6	✕	4	✕	13	✕	2	is
(i) 625 (ii) 623 (iii) 624 (iv) 621 (v) 627

11. The	value	of	1	✕	8	✕	18	is
(i) 144 (ii) 145 (iii) 147 (iv) 143 (v) 141

12. The	value	of	16	✕	9	✕	16	✕	7	is
(i) 16125 (ii) 16130 (iii) 16128 (iv) 16127 (v) 16129

13. The	value	of	2	✕	15	✕	13	is
(i) 390 (ii) 389 (iii) 391 (iv) 387 (v) 393

14. The	value	of	9	✕	19	✕	11	✕	13	is
(i) 24454 (ii) 24455 (iii) 24452 (iv) 24453 (v) 24450



15. 18	✕	______	=	270
(i) 12 (ii) 17 (iii) 15 (iv) 16 (v) 14

16. 16	÷	______	=	8
(i) 3 (ii) (-1) (iii) 2 (iv) 1 (v) 5

17. 20	✕	______	=	60
(i) 6 (ii) 3 (iii) 2 (iv) 0 (v) 4

18. 144	÷	______	=	24
(i) 5 (ii) 7 (iii) 8 (iv) 6 (v) 4

19. 11	✕	______	=	11
(i) 1 (ii) 3 (iii) 0 (iv) (-2) (v) 2

20. 576	÷	______	=	48
(i) 12 (ii) 14 (iii) 13 (iv) 11 (v) 10

21. 8	✕	______	=	32
(i) 7 (ii) 3 (iii) 4 (iv) 1 (v) 5

22. 196	÷	______	=	28
(i) 7 (ii) 10 (iii) 8 (iv) 4 (v) 6

23. (21	−	14)	✕	(20	−	40)	=
(i) (-143) (ii) (-141) (iii) (-137) (iv) (-140) (v) (-139)

24. (50	+	39)	✕	(18	+	23)	=
(i) 3649 (ii) 3650 (iii) 3652 (iv) 3648 (v) 3646

25. (10	−	12)	✕	(39	−	46)	=
(i) 13 (ii) 12 (iii) 17 (iv) 14 (v) 15

26. The	value	of	1	✕	31	is
(i) 31 (ii) 30 (iii) 33 (iv) 28 (v) 32

27. The	value	of	1	✕	45	is
(i) 46 (ii) 44 (iii) 45 (iv) 43 (v) 48

28. The	value	of	1	✕	21	is
(i) 19 (ii) 20 (iii) 21 (iv) 23 (v) 22

29. The	value	of	0	✕	20	is
(i) 3 (ii) 0 (iii) 1 (iv) (-1) (v) (-3)

30. The	value	of	1	✕	39	is
(i) 40 (ii) 39 (iii) 42 (iv) 37 (v) 38



31. The	value	of	0	✕	27	✕	24	✕	30	is
(i) (-1) (ii) 2 (iii) 1 (iv) 0 (v) (-2)

32. Find	55	✕	(50	+	93)
(i) 7866 (ii) 7868 (iii) 7864 (iv) 7865 (v) 7863

33. Find	85	✕	(38	+	13)
(i) 4337 (ii) 4334 (iii) 4333 (iv) 4335 (v) 4336

34. Find	26	✕	(81	+	34)
(i) 2990 (ii) 2992 (iii) 2991 (iv) 2989 (v) 2988



 1)	(iv)  2)	(iii)  3)	(i)  4)	(i)  5)	(iii)  6)	(iv)

 7)	(i)  8)	(iv)  9)	(iv)  10)	(iii)  11)	(i)  12)	(iii)

 13)	(i)  14)	(iv)  15)	(iii)  16)	(iii)  17)	(ii)  18)	(iv)
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